[RTFULRARIR NSy T [HRENTE]
EA829SE-3~30B .

S 1% e

O E - B/N\F T LA A(HSSE)

O REMNIE (REANE)

@ LLFYRDATULRE, i, A BHETSAF VY

1z

."

Il e s MR AN,
AN EREE

BTFE (BA{SI: mm)
A FER Bt | R [ RLE|BTR | v o& | EH
EA829SE-3 M3 x 0.6 46 1 19 4
EA829SE-3B M3 x 0.5
EA829SE-3.5 M3.5 X 0.6 48 13 20 4
EA829SE-4 M4 x 0.75
EA829SE-4B M4 x 0.7 52 13 21 >
EA829SE-5 M5 % 0.9
60 16 24 55
EA829SE-5B M5 % 0.8
EA829SE-6 M6 X 1 62 19 29 6
EA829SE-8 M8 x 1.25 70 99 37 6.2
EA829SE-8B M8 X 1
EA829SE-10 M10 X 1.5 3
EA829SE-10B M10 X 1.25 75 24 41 7

EA829SE-10C M10 X 1

EA829SE-12 M12 x1.75

EA829SE-12B M12X1.5

EA829SE-12C | M12x1.25 82 29 48 8.5
EA829SE-12D | M12x1 2.5P
EA829SE-14 M14 x 2
EA829SE-14B | M14x1.5 88 30 48 105
EA829SE-16 M16 X 2
EA829SE-16B | M16X1.5 9 32 52 12.5
EA829SE-18 M18 X 2.5
100 | 37 55 14
EA829SE-18B | M18Xx1.5
EA829SE-20 M20 X 2.5
EA829SE-20B | M20Xx 1.5 1051 37 58 15
EA829SE-22 M22 X 2.5
EA829SE-22B | M22x1.5 115 ] 38 63 1 4
EA829SE-24 M24 x 3 190 | 45 66 19
EA829SE-24B | M24x1.5
EA829SE-27 M27 X 3 130 | as 71 20
EA829SE-27B | M27x1.5
EA829SE-30 M30 x 3.5 135 | a8 24 93
EA829SE-30B | M30x1.5
UYL XYy THEEMEY 7 XX
FO | Vv oo | lEEE FO | Vv oRe | e Y | Vv ofe | DA
MT~M2 3 25 M14~Mi5 | 105 8 M28 21 -
M3 4 32 M16 125 a0 M30 23
w4 5 4 M17 13 M32 24 19
M5 55 m M18~M19 14 11 M33 25
M6 6 : M20 15 . M34~M35 26 o
M7~M8 6.2 5 M21 16 M36~M38 28
M9~M10 7 55 M?22 17 13 M39~M40 30 23
M1 8 6 M23 18 14 M42 2 o
M12 85 6.5 M24~M25 19 " M45 35
M13 95 7 M26~M27 20 A Z (mm)




